PDISPLAYS2GO

LPGP36WB2

—

Max
10kg
[221bs]

Camera

N G N
Max

90kg
[1981bs]

Stand

MAX 800*400

2 PERSONS
RECOMMENDED
FOR NSTALLING THS PRODUGT.




1PCS 4PCS 1PCS 1PCS
©)
1PCS 1PCS
A B C D E F

emm 5mm 4mm 3mm
M8X15 M6X10 M8 M6X15 / / / /

8PCS 1PCS 2PCS 8PCS 10PCS 1PCS 1PCS 1PCS 1PCS

H I

G
??ii\

M8X25  M6X25 M5X15 M4X15

M4 14mm
12PCS  8PCS 8PCS  8PCS 8PCS ~ 16PCS  8PCS  8PCS 1PCS
v
Ros
LCD
= V=200mm
VI=200mm
+ +

www.displays2go.com




Tilt up 5 degree 5 5
// —~ A T~
_———————
I ' —
|]| . . Iﬂ o P
<
g Ll N
I :ﬂ »
I
—
L —— 1 ://|:>
—
Tilt down 15degree +15° +15°
@ /\
. -

Portrait & Landscape

www.displays2go.com



V=200mm

ViZ=200mm

For Larger than 200x200 VESA

1

V=200mm

VI#=200mm

www.displays2go.com



For 200x200 VESA V=200mm
VI=200mm

www.displays2go.com



5 Slide Piece B into
the slot on Piece 5.

www.displays2go.com



7A

For Larger than 200x200 VESA mount patterns.

V+#200mm
VI=200mm

www.displays2go.com



7B

For 200x200 VESA mount patterns.

V=200mm
VI=200mm

www.displays2go.com



For larger than 200x200 VESA mount patterns.

VI=200mm

V=#200mm

8A

www.displays2go.com



BB For 200x200 VESA mount patterns.

V=200mm
VI=200mm

www.displays2go.com



10

www.displays2go.com



11 | .

Remove cover from ’

back of Piece 8 and _
assemble onto pillar. T

12

www.displays2go.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

